H & 0l & AHS B Ml A

20248 =0ila eI S

AT HEIED
T OlYSTSH(ASI=X/2S - HIEL0IS)
el dEBS ARy (SH &)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
G&ItEL 60,003,949 53,897,271 6,106,678
= 20,259,536
[ 836,867
Jl 2,651,702
< 17,242,682
Al 18,813,162
CH 200,000
HEEXSE(AZEX/ES - IHELNHY) 44,795,834 39,623,201 5,172,633
= 16,030,673
Il 2,085,163
= 14,767,215
Al 11,912,783
AdEHES AMalxd 6,081,855 5,215,862 865,993
= 1,259,568
Jl 2,085,163
s 723,026
Al 2,014,098
Zdds Jlgt =4 AE 25,800 32,000 26,200
201 2= 13,800 19,000 25,200
01 At22t2l] 8,800 11,000 22,200
oget=ZH| 7,200,000 7,200
O=gH| 1,600,000 1,600
2 s5=34l 5,000 8,000 A3,000
OssR= € MA 5,000,000& 5,000
202 04| 9,000 10,000 1,000
01 2LHA LI 9,000 10,000 21,000
OZ2=F 0| 9,000,000& 9,000
203 gF=4| 3,000 3,000
03 A=A =] 3,000 3,000
O0LEN BA3 22 £X
1,000,000& 1,000
OF2d SHAY 22 =
1,000,000& 1,000
oE=sgR = 1,000,000& 1,000
HEEH 2483 K& 27,080 29,600 A2,520
201 2= 7,680 9,600 21,920
01 At2t2lt] 7,680 9,600 21,920
oget=ZH| 1,920,000 1,920
O3 Z50Y S& UF S BA=E
2,880,000& 2,880
OgeNZrd gd M=k SteAlAE
29 2,880,000& 2,880
301 22N = 1,800 2,000 A200




SN OEIIED
M HE=SXST(ME=X/ES - IIEL0Y)
el dEBS ARy EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
11 dALEEIXIZE S 1,800 2,000 A200
OC4HMa A LT & Ha3l FAA A
A& 1,800,000 1,800
307 gl2to| & 17,600 18,000 2400
1 AMISXAIEEXS 17,600 18,000 A400
OAMEN -3l K129 H0ts
5,400,000& 5,400
OX0obts FEugu=s 7,200,000 7,200
O == Hgas 3,000,000 3,000
Ood=3 I Hi &8 &= & oLES
2,000,000 2,000
OEXI A SELEAISE 18,000 20,000 A2,000
307 21201 & 18,000 20,000 A2,000
11 AMRISXAEEES 18,000 20,000 22,000
OOIAXIER ALY TR
18,000,000 18,000
LHBSF2AXAS (RHIALY) 18,000 20,000 22,000
307 elztol & 18,000 20,000 22,000
1 AMEISXAEEXS 18,000 20,000 A2,000
OYHTSF ISl X2
18,000,000 18,000
HEEISt Al 2dat X2 A 140,000 50,000 90,000
== 35,000
Al 105,000
201 =3 80,240 23,300 56,940
[ 20,060
Al 60,180
01 At22t2lt] 60,240 16,300 43,940
OAIZIFENE 24 3,300,000& 3,300
= 825
Al 2,475
OEE=S 7Y 8,000,000& 8,000
S 2,000
Al 6,000
Oo4zst8s g4 u=s 3,000,000& 3,000
< 750
Al 2,250
ONdZst=AlZE RIS 22 FdE
100,000 x 132 #23] 2,600
= 650
Al 1,950
O8N 3o HAH
100,000& x10E ~42] 4,000
< 1,000




2A:

Ol&ot=0t

M HE=SXST(ME=X/ES - IIEL0Y)
el dEBS ARy EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 3,000
O0idzlst &8 Xd 39,340,000 39,340
== 9,835
Al 29,505
03 Ar=EHI 20,000 7,000 13,000
ONEZ Al AIIFOE HEHa WF
4,000,000& 4,000
= 1,000
Al 3,000
OAYENHE H&IX HASH S
6,000,000 6,000
< 1,500
Al 4,500
osskskt K& 10,000,000& 10,000
= 2,500
Al 7,500
301 EtE2 NS 7,860 5,200 2,660
=S 1,965
Al 5,89
11 AALAHIXIES 1,000 1,000 0
OARIHOIE DS L TS H0 bl X
1,000,000 1,000
< 250
Al 750
14 IIEt2 83 6,860 4,200 2,660
O ANUFOE L&t 1,400,000& 1,400
= 350
Al 1,050
OALIFNY gs+¢
20,0002 +21H %132 5,460
[ 1,365
Al 4,09
303 Z&a= 1,900 1,500 400
= 475
Al 1,425
01 &= 1,900 1,500 400
OMYFL K24 24 1,900,000& 1,900
= 475
Al 1,425
307 212+01& 20,000 20,000 0
[ 5,000
Al 15,000
02 B HAHE L 20,000 20,000 0




2A:

Ol&ot=0t

B (=N SA(AS =X/ 2R - IEU0A)
el SHES Malxd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OOMZBTA NHSHE A 22
20,000,000& 20,000
= 5,000
Al 15,000
401 AlZHIZ SO 30,000 0 30,000
== 7,500
Al 22,500
01 Al&HI 30,000 0 30,000
O dzlst &t S#HXH
30,000,000& 30,000
S 7,500
Al 22,500
SRS NHYSH S NE 1,806,590 1,806,590 0
) 1,445,272
S 180,659
Al 180,659
301 LEtE NS 1,806,590 1,806,590 0
Jl 1,445,272
< 180,659
Al 180,659
01 AR 2EHSHS(RDNEXRTHE) 1,806,590 1,806,590 0
ORR2IIE AHH L=
1,718,400,000& 1,718,400
Jl 1,374,720
== 171,840
Al 171,840
ORR2IIE FOtL=H| 84,000,000 84,000
Il 67,200
== 8,400
Al 8,400
OstRZIIE stE3H| 4,190,000 4,190
Il 3,352
== 419
Al 419
MAS RRIIE X (2ZAE) 161,560 147,876 13,684
= 48,468
Al 113,092
301 EtE NS 161,560 147,876 13,684
= 48,468
Al 113,092
02 AR 2HASFS(HAAS, XNLHE) 161,560 147,876 13,684
OdEE=s 6,000,000& 6,000
= 1,800
Al 4,200




2A:

Ol&ot=0t

T OlYSTSH(ASI=X/2S - HIEL0IS)
el dEBS ARy EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
oxg=atl 5,000,000& 5,000
= 1,500
Al 3,500
o-yA=Y| 141,560,000 141,560
=S 42,468
Al 99,002
oAZ2ell 600,000 600
= 180
Al 420
OTsd L= NS &HI
8,400,000 8,400
S 2,520
Al 5,880
MAS RIS X2 (RMAF) 46,600 51,500 24,900
301 22N = 22,500 25,000 A2,500
02 ARI2HH S (FHAAS, NLHE) 22,500 25,000 22,500
O8R2I1E IH W=sasXI|]
22,500,000 22,500
307 elztol & 24,100 26,500 22,400
11 AMEISXAIEEES 24,100 26,500 2,400
OMAS SIRL(2I)IIE #HIELSAIY
2,500,000 2,500
OMAS SRIUFIIIE Lt X
21,600,000& 21,600
Ol R2ItE THEXE 22,000 21,200 800
S 6,600
Al 15,400
301 EtE NS 22,000 21,200 800
= 6,600
Al 15,400
02 AR 2HALFS(HAAS, XLHE) 22,000 21,200 800
O DIER &det2 k|
1,000,000 1,000
s 300
Al 700
Ollz s=2 Adsat| 2,400,000 2,400
S 720
Al 1,680
Olle BRI H&2EH|
18,600,000 18,600
= 5,580
Al 13,020
AEEER TUEAE 4,200 7,000 A2,800
7l 3,360




SN OEIIED
M HE=SXST(ME=X/ES - IIEL0Y)
el dEBS ARy EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 252
Al 588
301 EtE NS 4,200 7,000 22,800
Jl 3,360
== 252
Al 588
01 AR 2EHSHS(RNEXRTH) 4,200 7,000 22,800
OHALHED OlS US|
3,600,000& 3,600
Il 2,880
== 216
Al 504
OHAUBER NUET4Y
600,000 600
Jl 480
< 36
Al 84
FAHERL ots&=Hl X2 57,600 57,600 0
= 28,800
== 8,640
Al 20,160
301 22N = 57,600 57,600 0
= 28,800
=S 8,640
Al 20,160
01 Al EE A S(FREXMA) 57,600 57,600 0
OFAURL Ots2=H| KA
200,000 x24H 122 57,600
= 28,800
= 8,640
Al 20,160
ools=s X&E 1,758,240 1,332,000 426,240
= 1,230,768
= 168,242
Al 369,230
307 @120l & 430,000 256,770 173,230
= 301,000
= 38,700
Al 90,300
11 AMEISXAIEEXS 430,000 256,770 173,230
ootols=s XIA(22l) 430,000,000 430,000
= 301,000
= 38,700
Al 90,300




2A:
PSR
ool

Ol&ot=0t
HE=SXSE(AEISR/ES - IIFL0Y)
dHdES AMxd

SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
308 AHXIHM SO & 1,328,240 1,075,230 253,010
= 99,763
T 119,542
Al 278,930
13 SI| 2 SHICHEH B AR L EFALH] 1,328,240 1,075,230 253,010
O0N0IES XIA(MER)
1,328,240,000& 1,328,240
= 99,763
& 119,542
Al 278,930
OIS 20| 43t X 4,500 5,000 AB500
307 2I2+01A 4,500 5,000 A500
11 AL SXAMEEER 4,500 5,000 AB00
OOI0I=E0| gEdstus 5 XA
4,500,000 4,500
OIS E0| AZS&H| K& 1,560 0 1,560
T 468
Al 1,092
307 2I2+0l™ 1,560 0 1,560
T 468
Al 1,092
11 Al SXAMEE X 1,560 0 1,560
O0I0I=20] HASE | 1,560,000& 1,560
= 468
Al 1,092
O0I=BAHIA 21293 FIOHIE AL 55,000 0 55,000
& 16,500
Al 38,500
307 212+01™ 55,000 0 55,000
T 16,500
Al 38,500
11 A= XAISE 55,000 0 55,000
OOl0IESSAHIA 21RYZ FIHKIA
55,000,000& 55,000
= 16,500
Al 38,500
Ct2shts E=KXIJ 59,680 65,628 Ab,948
201 B2 AH| 500 500 0
01 At22teld| 500 500 0
OgEt=2H| 500,000 500
301 LB F 9,000 10,000 A1,000
02 MBI 2EAH S (HUAHS, NSTHA) 9,000 10,000 21,000




2A:
PSR
ool

Ol&ot=0t
HEZEXSE(AZEX/E= - Ot
LHBES AR XS

M
He
2

0x

SA - ZE . BR() - HRAR - BES of v G o HIDE2
OCI2aht= NZFS 2 u=
9,000,000& 9,000
307 gl2to| & 50,180 55,128 N\4,948
1 AMISXAIEEXS 50,180 55,128 A4,948
OYSDSNTA DSH L YEAY +g
5,180,000& 5,180
Oottzats {8 EX2
27,000,000 27,000
OAMEREIEFN A
18,000,000& 18,000
B SEAMHIA X3 631,170 403,287 227,883
Il 315,585
= 94,676
Al 220,909
307 el2tol & 631,170 403,287 227,883
) 315,585
& 94,676
Al 220,909
05 2ItRIE =S 631,170 403,287 227,883
OJIEHIE SeEAbIA X3
631,170,000& 631,170
Jl 315,585
< 94,676
Al 220,909
JIEHH SEMHIA R (XEA) 50,000 50,000
307 elztol & 50,000 50,000
05 QI29IEt2 50,000 50,000
OJIEMEl SBAHIA X8
50,000,000 50,000
JEEHE SAEL =¢ 20,800 20,800 0
< 6.240
Al 14,560
307 212+01& 20,800 20,800 0
< 6,240
Al 14,560
11 Al SXIAIEE 20,800 20,800 0
OBARt=E (O 74|_.__7F_,%§3434)
20,800,000& 20,800
= 6,240
Al 14,560
CHE3HE S4otAY 272,176 250,639 21,537
Il 136,088
= 40,827
Al 95,261




2A:

K ZH -
oS>

WPEpIE
OIS XE(ALEI =X/ 25 - =Y

el dEBS ARy EER=E)
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
307 212+01 A 272,176 250,639 21,537
| 136,088
= 40,827
Al 95,261
11 Al SXAMEE R 272,176 250,639 21,537
OLI2EIE Y2DIALIA
141,056,000& 141,056
| 70,528
& 21,158
Al 49,370
OCtZ3ts [t HHLE X2
40,590,000& 40,590
| 20,295
= 6,089
Al 14,206
00|90 &3y 36,430,000 36,430
| 18,215
= 5,465
Al 12,750
OAEO0IYR SHHAHIA
34,100,000 34,100
| 17,050
= 5,115
Al 11,935
OZS0I8IXt F&2dst XI2AS
20,000,000 20,000
J| 10,000
= 3,000
Al 7,000
GHEZS0I2A TERSISKIME IHEE 9,717 18,500 A\8,783
& 2,915
Al 6,802
307 QI2tol 9,717 18,500 8,783
T 2,915
Al 6,802
11 Al =SXAMEES 9,717 18,500 A\8,783
OWAZ=0I21Kt CrE22EXIddH I
NE=S 9,717,000& 9,717
= 2,915
Al 6,802
GHEZES0I2R 202 ZAE 7,560 8,400 AB40
& 2,268
Al 5,292
301 LPENZ 7,560 8,400 AB40




SN OEIIED
M HE=SXST(ME=X/ES - IIEL0Y)
el dEBS ARy EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 2,268
Al 5,292
14 IIEt2 8= 7,560 8,400 N840
OOILZE0IRIT RO LAI=E
7,560,000& 7,560
= 2,268
Al 5,292
CHESIIEXE S=AIAIE 16,670 16,670 0
== 5,000
Al 11,670
307 212+01& 16,670 16,670 0
< 5,000
Al 11,670
11 AMEISXAEEE 16,670 16,670 0
OUEZ3IIENE S=ARAL
16,670,000& 16,670
= 5,000
Al 11,670
0159 RNEZ2H(22E Aed) 24 7,684 13,000 N5,316
== 3,842
Al 3,842
307 212+01™ 7,684 13,000 Ab,316
[ 3,842
Al 3,842
11 AMEISXAEEES 7,684 13,000 N5,316
O0|E0 ST (S2ERINSH)
29 ,684,000& 7,684
= 3,842
Al 3,842
A2IHY 2E5AIY R (KEHALY) 27,000 30,000 A3,000
307 @120l & 27,000 30,000 A3,000
1 AMISXAIEEXS 27,000 30,000 23,000
OAZLIE LAY 27,000,000& 27,000
SS=0tL=H 2SR 170,136 109,692 60,444
Jl 85,068
=S 25,520
Al 59,548
307 @12t01 & 170,136 109,692 60,444
Jl 85,068
= 25,520
Al 59,548
05 212+ =S 170,136 109,692 60,444
OZSS0tLsH 22 (342)
170,136,000& 170,136




AT HEIED
T OlYSTSH(ASI=X/2S - HIEL0IS)
el dEBS ARy EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 85,068
=S 25,520
Al 59,548
ESSE0LI=sH 388 A&l 100,000 0 100,000
401 Al HIZL S 0HYI 100,000 100,000
01 Al&H| 100,000 100,000
O38S=0Ll=H 388 atda 2+
100,000,000 100,000
HEESAIE 48428 X 173,590 172,790 800
) 86,795
< 43,398
Al 43,397
307 lztol & 173,590 172,790 800
Jl 86,795
== 43,398
Al 43,397
10 Al2ISTIAIEEE 22X 173,590 172,790 800
oglztatgAs 29 173,590,000 173,590
Jl 86,795
=S 43,398
Al 43,397
HEESAIE 4R oAl K& 66,626 30,764 35,862
307 lztol & 66,626 30,764 35,862
10 Al2ISTIAIEEE 22X 61,426 30,764 30,662
OWEESAIE &53 22| XI&
61,426,000 61,426
11 AMEISXAIEEXS 5,200 0 5,200
OUEBSAIM ALE BAK 4+ X2
5,200,000& 5,200
HE=y 2HAE SAHLE MM 57,775 51,756 6,019
< 11,555
Al 46,220
307 elztol & 57,775 51,756 6,019
S 11,555
Al 46,220
10 Al SXAIEEHE 22X 57,775 51,756 6,019
O gd=2d A8 SAL D23
57,775,000& 57,775
= 11,555
Al 46,220
Hd=8 2BAE SAHA =& 18,200 14,400 3,800
== 5,460
Al 12,740
307 212+01& 18,200 14,400 3,800




AT HEIED
T OlYSTSH(ASI=X/2S - HIEL0IS)
el dEBS ARy EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 5,460
Al 12,740
11 ABI= XA 2 X 18,200 14,400 3,800
OBARAS PR E, BRAR)
18,200,000& 18,200
= 5,460
Al 12,740
SEHMAN XM= -35 2208 23 K& 3,090 3,090 0
Il 2,163
= 464
Al 463
307 el2to| & 3,090 3,090 0
) 2,163
= 464
Al 463
1 AMEISXAEEXS 3,090 3,090 0
OdZHIIoA Xg - 318 Z2I8 29 X
o 3,090,000& 3,090
) 2,163
S 464
Al 463
=S 2=, 2t8Hl X2 1,480 1,720 N240
) 1,036
& 444
301 LEetE2 N = 1,480 1,720 A240
Il 1,036
= a4
01 ABIZBR462(IDEEMHE) 1,480 1,720 240
OHZAHA 22| 1,480,000 1,480
Jl 1,036
[ 444
JHIE =oAL Xgels 2208 E 2/gH| X 13,995 14,158 A163
Jl 9,7%
& 2,315
Al 1,884
301 2EN= 1,437 1,600 A163
Jl 1,006
s 431
01 AR 2EHSHS(RRNEERTHE) 1,437 1,600 A163
OJtE == UIcHA 2l =H| 1,437,0002 1,437
Jl 1,006
< 431
307 @120l & 12,558 12,558 0




2A:

Ol&ot=0t

M HE=SXST(ME=X/ES - IIEL0Y)
el ¥d8S Ay (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 8,790
=S 1,884
Al 1,884
11 AMISXAIEEX 12,558 12,558 0
OJIE =LAt XZ2=22 08 29
12,558,000 12,558
7l 8,790
= 1,884
Al 1,884
ZHIoA 220" 28 A& 77,576 73,862 3,714
< 23,273
Al 54,303
307 glztol & 77,576 73,862 3,714
= 23,273
Al 54,303
1 AMEISXAEEXS 77,576 73,862 3,714
OZ=UlcHAt 2IZ8UHN 2
77,576,000& 77,576
S 23,273
Al 54,303
a2t 23 150,200 159,150 /8,950
101 e124d| 1,500 3,000 21,500
M ORNZZ2NSE S 1,500 3,000 21,500
O dal 2 StEtEH| AR (H=EY)
1,500,000 1,500
201 er23| 42,200 52,650 210,450
01 At2teltl 24,600 30,650 26,050
Odgt+==t| 7,200,000& 7,200
oz e g2= MH 2,400,000 2,400
Os2Jl, &J|, 2 S AlZ2e] E9H|
8,000,000 8,000
onzd I8 == & HlE 7Y
4,000,000& 4,000
O] 1,000,000& 1,000
OZHOIXl 22 S5 2,000,000 2,000
02 35244l 17,600 22,000 24,400
0s32= 11,200,000 11,200
OAld=Al2cll 6,400,000 6,400
206 M=l 1,000 2,000 1,000
01 MZH| 1,000 2,000 1,000
oNdaa =28 M=hl 1,000,000& 1,000
301 EetE NS 105,500 101,500 4,000
11 #AIAHIXIE S 500 1,500 21,000




AT HEIED
T OlYSTSH(ASI=X/2S - HIEL0IS)
el dEBS ARy EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ONdalat AKX s 2 WAL FAXF A
500,000 500
14 DBt 2 a3 105,000 100,000 5,000
ONdzl2 T2 ZAIZ
105,000,000& 105,000
SEAMUIA E St 38,713,979 34,407,339 4,306,640
= 14,771,105
= 14,044,189
Al 9,898,685
Eedssg A3 149,817 363,992 A214,175
= 97,381
= 26,218
Al 26,218
301 LEtE N = 149,817 363,992 N214,175
= 97,381
== 26,218
Al 26,218
01 A2 HSFS(RNEERTHE) 149,817 363,992 A214,175
ogdegsg A& 149,817,000& 149,817
= 97,381
[ 26,218
Al 26,218
R220(Hot+E) XA 7,341,930 3,403,073 3,938,857
= 4,772,254
[ 1,284,838
Al 1,284,838
301 LELEN S 7,341,930 3,403,073 3,938,857
= 4,772,254
s 1,284,838
Al 1,284,838
01 Al 2E AL S(FRNEXME) 7,341,930 3,403,073 3,938,857
O=2I0{(F0t+Y) X
7,341,930,000& 7,341,930
= 4,772,254
=S 1,284,838
Al 1,284,838
gdR0tE=E K& 7,507,371 8,607,722 21,100,351
= 4,879,791
=S 1,313,790
Al 1,313,790
301 Eet2 NS 7,507,371 8,607,722 21,100,351
= 4,879,791
= 1,313,790
Al 1,313,790




AT HEIED
T OlYSTSH(ASI=T/2S - HEL0IS)
ol ESAHIA E gt EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
01 A2 HSHS(RNEERTHE 7,507,371 8,607,722 1,100,351
oOgRot 258 X& 7,498,683,000& 7,498,683
= 4,874,143
< 1,312,270
Al 1,312,270
OS0I8H| OFS OFIIE BRE XA (102)
2,688,000& 2,688
= 1,748
< 470
Al 470
OYWHOIS YBE TYRK2 XA (10Z)
6,000,000& 6,000
= 3,900
< 1,050
Al 1,050
3-5Ml =2l 7,511,355 7,511,355 0
= 7,511,3%
301 2eEN= 6,511,355 6,511,355 0
& 6,511,3%
02 A EEAHS(FANE, XLTHE) 6,511,355 6,511,355 0
OF2lUE(HES) 6,000,000,000& 6,000,000
< 6,000,000
OS2I WA HUDAF HLHAH]
511,355,000 511,35
=S 511,355
307 el2tol & 1,000,000 1,000,000 0
= 1,000,000
10 Al2IS XA EEE 22X 1,000,000 1,000,000 0
O=clitd 24 1,000,000,000& 1,000,000
= 1,000,000
ool B2 258 XN 210,000 220,000 10,000
[ 42,000
Al 168,000
301 LELE NS 210,000 220,000 10,000
S 42,000
Al 168,000
02 A EEABS(FHAANS, XLTHE) 210,000 220,000 10,000
O0lgl0ly R28Y 282 ¥
210,000,000 210,000
= 42,000
Al 168,000
gdits 2= 980 970 10
< 862
Al 118




AT HEIED
T OlYSTSH(ASI=T/2S - HEL0IS)
ol ESAHIA E gt EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
301 EtE NS 980 970 10
= 862
Al 118
02 ARSI 2 XSG (FHAAHS, NLWE) 980 970 10
ogilt=s 252 980,000 980
= 862
Al 118
el=el ROt RRESE K& 14,400 0 14,400
S 2,880
Al 11,520
301 LELEE S 14,400 0 14,400
& 2,880
Al 11,520
02 A2 EH 2GS (FHAAHS, W) 14,400 0 14,400
220l R0t FRPKRAA(12)
14,400,000& 14,400
= 2,880
Al 11,520
AZHH E=AMEIA WIS K& 151,940 144,540 7,400
= 75,970
= 37,985
Al 37,985
301 EtE2 NS 25,000 24,000 1,000
= 12,500
= 6,250
Al 6,250
01 Al EE A ZS(2REXMR) 25,000 24,000 1,000
OAIZHM E=2 UE= 25,000,000& 25,000
= 12,500
< 6,250
Al 6,250
307 elztol & 126,940 120,540 6.400
= 63,470
< 31,736
Al 31,735
10 Al SXAIEEHE2EHI2x 126,940 120,540 6,400
OAIZEH 2= 0el0ld 2124 & 244 XAl
= 126,940,000 126,940
= 63,470
[ 31,736
Al 31,735
Helold Z2AY| X2 (25AI0H) 860,600 0 860,600
= 258,180




SN IS
M HE=SXST(ME=X/ES - IIEL0E)
&Rl EsAHA 2 ey (EEEE))
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
Al 602,420
307 gl2tol & 860,600 0 860,600
S 258,180
Al 602,420
10 MeISXAEHE2EHIEX 860,600 0 860,600
OO1RI01F 2RI XIR (I5KI0H)
860,600,000 860,600
< 258,180
Al 602,420
SFuAE el2dl X2 5,849,600 5,640,000 209,600
= 2,924,800
< 1,462,400
Al 1,462,400
307 212t01™ 5,849,600 5,640,000 209,600
= 2,924,800
== 1,462,400
Al 1,462,400
10 Al SXAIEEHE2EHI2X 5,849,600 5,640,000 209,600
O=38 - g20{el0l8 ExsuA3 Q12|
4,989,332,000& 4,989,332
= 2,494,666
s 1,247,333
Al 1,247,333
OZO0H0t O18l01E EFuAE Q12|
465,916,000 465,916
= 232,958
== 116,479
Al 116,479
OgOotdE Oi2l0ld 20X el
285,992,000 285,992
= 142,996
[ 71,498
Al 71,498
OO0t & HWAL Q14|
108,360,000 108,360
= 54,180
< 27,090
Al 27,090
SEWAL CHM AR X2 2,270,643 2,015,529 255,114
= 1,135,321
[ 567,661
Al 567,661
307 212t01™ 2,270,643 2,015,529 255,114
= 1,135,321




SN OEIIED
. E=XNSE(AIE=EX/ES - IHFLHYS)
&2l ESAHIA A ga (SH &)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 567,661
Al 567,661
10 AISIS XA EEE2IHIE X 2,270,643 2,015,529 255,114
SXWAL QIA4H] XI&
1,032,651,000& 1,032,651
= 516,325
= 258,163
Al 258,163
OHEE=R M WAL 14| K&
1,125,872,000& 1,125,872
= 562,936
= 281,468
Al 281,468
OCUHM WAL 21248] RI& 112, 120,000& 112,120
= 56,060
= 28,030
Al 28,030
2l0IE FAH o1HHl XI& 167,040 193,320 226,280
& 33,408
Al 133,632
307 212+01™ 167,040 193,320 A26,280
T 33,408
Al 133,632
10 Al = XA EHE2FHIE X 167,040 193,320 226,280
O el0ld HAHA eIzl XI&
167,040,000& 167,040
= 33,408
Al 133,632
EFnIAA YA K& 1,458,600 1,337,652 120,948
= 729,300
= 364,650
Al 364,650
301 LPBENZ 1,458,600 1,337,652 120,948
= 729,300
& 364,650
Al 364,650
NEEEEREEREESTE) 1,458,600 1,337,652 120,948
Sl DA R (2, A PR EEY, DA
A 1,082,400,000& 1,082,400
= 541,200
T 270,600
Al 270,600
OsSEEFWAI SEE2H
376,200,000& 376,200




AT HEIED
T OlYSTSH(ASI=T/2S - HEL0IS)
ol ESAHIA E gt EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 188,100
=S 94,050
Al 94,050
0l8l0lE EsuAE X200 452,000 406,000 46,000
< 90,400
Al 361,600
301 EtE NS 452,000 406,000 46,000
= 90,400
Al 361,600
02 ALRI2EH 2GS (FHAAHS, NSWE) 452,000 406,000 46,000
UM HRMLAH(ERAY, F=20|
X, Eotels) 294,000,000 294,000
= 58,800
Al 235,200
O OHOIEZ ORI0IE SAA Sx==&
18,000,000 18,000
& 3,600
Al 14,400
OEFuAa B2+ 140,000,000 140,000
= 28,000
Al 112,000
Oeloly 2SX (LM -H) 45,000 46,000 1,000
= 27,000
= 12,600
Al 5,400
307 gl2to| & 45,000 46,000 21,000
= 27,000
= 12,600
Al 5,400
10 Al SXAAEEHE2EHI2x 45,000 46,000 21,000
Ou M w-H] 45,000,000& 45,000
= 27,000
< 12,600
Al 5,400
OlRloly 2SXA (22 144,000 168,000 24,000
= 86,400
< 40,320
Al 17,280
307 glztol & 144,000 168,000 24,000
= 86,400
== 40,320
Al 17,280
10 Al2ISTIAIEEE 22X 144,000 168,000 224,000




A HAIED
B (=N SA(AEI=X /2R - IEU0A)
&Rl EsAHA 2 ey (EEEE))
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
Oxte 2| 144,000,000& 144,000
= 86,400
= 40,320
Al 17,280
O2lold 2SN (sHELT Eoloelold) 8,480 8,660 A180
= 5,088
T 2,374
Al 1,018
307 QIZ2t01 A 8,480 8,660 A180
= 5,088
T 2,374
Al 1,018
10 Al = XA EHE2IHIE X 8,480 8,660 A180
O=sHEATH el el 0ld 22|
8,480,000& 8,480
= 5,088
& 2,374
Al 1,018
O{2lold el XI2 23,200 25,000 A1,800
= 6,960
Al 16,240
307 212+01 A 23,200 25,000 21,800
& 6,960
Al 16,240
10 Al SXAIEHE2ZHIEX 23,200 25,000 21,800
20X Hglold Htgdl XA
23,200,000 23,200
& 6,960
Al 16,240
O2l0l& Fotet 2g84dst X2 110,160 178,560 A68,400
= 33,048
Al 77,112
307 2I2+01A 110,160 178,560 A68,400
= 33,048
Al 77,112
10 Al SEXAIEHE2EHIEX 110,160 178,560 68,400
Ogotet 2% 43t XA
110, 160,000& 110,160
& 33,048
Al 77,112
=32 0/& SYHI(HEAY) 1,115,496 1,115,4% 0
= 836,622
Al 278,874
307 QIZ2t01 A 1,115,4% 1,115,496 0
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A HAIED
. E=XNSE(AIE=EX/ES - IHFLHYS)
&Rl EsAHA 2 ey (EEEE))
SA - BB 9(B) - NIRA - BaS ol ke G o HlmS2
O0ZI0IEHAE S| HAH EHAXH Ald| XA
1,350,000& 1,350
ORE NADSK Y Y32 HAT MUK
6,300,000& 6,300
307 QIZ2t01A 428,292 447,280 A 18,988
10 AIEISXAIEHE2ZHIER 428,292 447,280 A 18,988
OSX H2XA00IT QY| £t X
& 257,400,000& 257,400
OEItHl HelolE HAHA 2lAd| XI&
81,432,000 81,432
O0glold >4l XA
21,600,000& 21,600
OsKSE HEold XtH2gHl N
54,000,000& 54,000
OF=RXNANE 0l Htetdl XA
7,290,000& 7,290
O0elold g9yl XA 6,570,000& 6,570
Oelold ot&Ee s K& 16,240 18,390 A2,150
= 8,120
Al 8,120
301 LetENEZ 16,240 18,390 AN2,150
= 8,120
Al 8,120
02 MBI EZASGS(HUAS, XLTHEA) 16,240 18,390 A2,150
oogold etdEdz XA
16,240,000 16,240
& 8,120
Al 8,120
SRELIHEH 29 5,000 3,100 1,900
= 2,500
& 1,250
Al 1,250
201 Ler2 | 500 600 A100
= 250
& 125
Al 125
01 Ar2eltl 500 600 A100
ORRZLIHEH 22| 500,000 500
= 250
= 125
Al 125
301 LPENSZ 4,500 2,500 2,000
= 2,250
= 1,125
Al 1,125




od
i’
oF
uJ

S8 e < < 8188 8 8 8 N N
S SIS S S S S S
Y [aN] [«2 1 lap N Nep] [aN] (V) [aV] [e0) [e0)
n0 41<]< < < < ~ ~
KIo
E
E=)
S S S S 81818 8 8 8 8 8
0 S ) S SIS S S S S S
o © @ © S8 & & & & &
LH3r
<
KIS
S 838 LNS 83883 3|8 23838 381818 S8 888|188 8 8|8 S 8838 LI XL B
L DO A e n S S S - e & —|99e 9SS m S o mBnS S9N NS ANXD|SN X
mrﬁ
<
b=}
W= W= W= W= W= W= W= H = H =
o o G o
S8 8 8 8
S S S S
o | 8 8 g g
= ~ S N &
3 W @ U
< = R —_ =
It Kl 5 o
= T )l =
< E=) ® Hon\ = J_Mu._
W) Uo M :ﬁmﬂ_ ol s =
__= D ~ == /\lro
B . o o I Ki g K o
i) gl E B i Mo H o R
o 0 o F o5 20 30 N pd 31 = _ pd
bl - - = o ~O — I Y KD —
o) | B H fo BM_ P, = O o™ > = K >
. % 2 _ il ko RD Wk =< Kl ) H KD = il
= M O o I N S Fisiw & (L0 = R S i =
_._mo o O E o) o || o (N A Al S Al
K j%@% KD oll Am m_\D._,Am RID oJ D._m 1) oJ
. ) = = EIRNE= ) N & 5 N
X B 8 e 0 | B S < i) Si
i - 0 S ¥




2A:

Ol&ot=0t

M HE=SXST(ME=X/ES - IIEL0E)
el ESAHA 2 g (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 QI X2 AL EE(OIETHE) 101,074 23,000 78,074
OO0lel0ld JISEH XA
101,074,000& 101,074
= 20,215
Al 80,859
2SN &S 302,000 412,000 110,000
401 AIEHIZ SR THYI 150,000 260,000 110,000
01 AlZ8| 150,000 260,000 A110,000
O=ZE0HE0IE JIs:2d
150,000,000 150,000
402 QI”F X201 & 162,000 162,000
01 QI X2 AL E X (KEMITHE) 162,000 162,000
O0elold Vs 104,000,000 104,000
O30y JIs:2d
48,000,000 48,000
g2 298 65,500 55,000 10,500
101 e124d| 25,000 25,000 0
M ORNZZ2NSE S 25,000 25,000 0
OJI1ZtHZ22 X 24
2,777, 700218+ 25,000
201 er23| 24,000 25,000 21,000
01 At2teltl 12,000 15,000 A3,000
ogergt| 8,000, 0002 8,000
OBUY U 2HSE 7Y
4,000,000 4,000
02 35244l 12,000 10,000 2,000
03323 2 AMEKRXI2el]
12,000,000 12,000
207 ARl 12,000 12,000
02 MAHHZHI 12,000 12,000
OFU 0! HIAAAEY DS
12,000,000 12,000
405 AtaHE = 4,500 5,000 A500
01 TR =S FISHI 4,500 5,000 A500
ozdz=2d =5 7 4,500,000 4,500
HEE FHZH2 =8 e|24d 150,000 0 150,000
& 45,000
Al 105,000
401 Al HIZL 201 150,000 0 150,000
= 45,000
Al 105,000
01 Al&H| 150,000 0 150,000
ONEE HUATHB TH 22U
150,000,000 150,000




SN IS

M HE=SXST(ME=X/ES - IIEL0E)
el ESAHA 2 g (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 45,000
Al 105,000
SN guZ2d &4 800,000 0 800,000
101 @12A4H| 50,000 0 50,000
MU IIRINZZE2NSES 50,000 0 50,000
OJIZNZ22 X 2= 50,000,000 50,000
201 etz 3| 30,000 0 30,000
01 At 2|l 20,000 0 20,000
OZEt=EH| 20,000,000& 20,000
03 A2 I 10,000 0 10,000
O 2] A 10,000,000 10,000
401 Al HIZL 201 620,000 0 620,000
01 Al&H| 620,000 0 620,000
OSX FuZeH Ia
620,000,000& 620,000
405 AtatsE = 100,000 0 100,000
01 TR ESFISHI 100,000 0 100,000
o & JIAHH + 100,000,000 100,000
Ots &AW SXSA(AMESX/ 0l - HAH) 14,662,475 13,835,790 826,685
= 4,228,863
= 732,547
) 566,539
= 2,468,947
Al 6,465,579
CH 200,000
OtsAddsd 10,521,173 10,779,444 A258,271
= 4,186,189
[ 732,547
Jl 136,588
s 1,476,400
Al 3,989,449
Ol 2 X3 Az 184,000 184,000 0
= 128,800
= 27,600
Al 27,600
301 LEetE2 N = 184,000 184,000 0
= 128,800
= 27,600
Al 27,600
01 Al EE A2 (2RNEXMR) 184,000 184,000 0
OOtsZ 2 X HZ 184,000,000 184,000
= 128,800
& 27,600
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Ofl &F2H

HMEE
Ofl &k2h

27,600
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=

372,69
149,078

89,447
134,170

323,906

48,789

307 212+01™

o

=

372,695
149,078

89,447
134,170

323,906

48,789

10 At2

ore

M

N

>
x
i3
02
o
o 02
[
HT

fob
o
o
|
]
O
08

kA

372,695 ,000&

o

=

372,69

372,69
149,078

89,447
134,170

323,906

48,789

SRR

=

173,411
86,705
34,682
52,024

160,359

13,052

101 e124d|

SRR

173,411
86,705
34,682
52,024

160,359

13,052

oM AN (F25AI12E) WA

04 JIZtNZ22 NS+
O0rS=XIWAL 2148 XA

oMM WA

3,070,260« 1H* 123

1,754, 1332 x4 x 122

1,504,000 x2F « 12

678,000 x2E 128

SRR

=

SRR

=

= M &

SRR

121,043
121,043

36,844
18,422

7,369
11,053

84,19
42,099
16,840
25,260
52,368
52,368
36,096
18,048

7,219
10,829
16,272

8,136

3,254

107,991

52,368

13,052




A HAIED
& 0t HAYH SXSE(AMEISsX/ L0l - A H)
=t OtsHE=EY EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
| Al 4,882
Ots=S X WAF TFAXIR (XA 33,600 31,100 2,500
101 @124l 30,900 31,100 A200
03 SR (RINHL) 222+ 30,900 30,600 300
OYEFItI 1,450,000 *5F *23| 14,500
OXRXEHY 100,000& 1E x 122 1,200
OXRXEHY 150,000 x4 H 123 7,200
oitEs=Y 250,000& =123 3,000
OAZt2A2R+E 250,000& =12 3,000
OdxtREaF/I=Y 2,000,000& 2,000
202 0idl 2,700 2,700
01 =WO4bI 2,700 2,700
O32% ZUHEZE NI 1,700,000& 1,700
OOtS=X WA 22AEE 0|
1,000,000& 1,000
XNE0ts4le 298| XA 134,4% 129,8% 4,600
= 67,248
& 26,899
Al 40,349
307 212+01™ 134,4% 129,8% 4,600
= 67,248
& 26,899
Al 40,349
10 Al S XA EEHE2IHIE X 134,4% 129,8% 4,600
OXHOISHEH 2l XA (7HA)
134,496,000& 134,496
= 67,248
& 26,899
Al 40,349
XN E0otsHlE lzid| I 673,500 563,184 110,316
= 336,750
& 134,700
Al 202,050
307 212+01 A 673,500 563, 184 110,316
= 336,750
= 134,700
Al 202,050
10 AISIS XA EEE2IHIE X 673,500 563,184 110,316
OXIE0otsHE 21148 X
673,500,000& 673,500
= 336,750
= 134,700
Al 202,050




SN O1EIIED
3 ot 44 SANST(MISA/ ol - HAH)
el OlsdE=sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
KOS HE SAEL =& 44,200 44,200 0
= 13,260
Al 30,940
307 el2to| & 44,200 44,200 0
= 13,260
Al 30,940
1 AMISXAIEEXS 44,200 44,200 0
OXIY0tsSHE SALRF =5 X2 (179)
44,200,000 44,200
== 13,260
Al 30,940
NSOotSHE it X2 10,900 10,900 0
= 3,270
Al 7,630
307 elztol & 10,900 10,900 0
= 3,270
Al 7,630
10 AlISXAAZEHE 22X 10,900 10,900 0
OXIHOtSHIE! HHIHI(7H4)
10,900,000& 10,900
== 3,270
Al 7,630
OlSSXAIE 22 491,269 465,185 26,084
307 elztol & 491,269 465,185 26,084
10 Al SXAIEEHE2EHI2x 491,269 465,185 26,084
OO0IS=XAIE 2 XA (AH)
482,269,000& 482,269
Otz s32= & HHLl X2
9,000,000& 9,000
OLSSXAE SAE 49,400 46,800 2,600
[ 14,820
Al 34,580
307 glztol & 49,400 46,800 2,600
= 14,820
Al 34,580
1 AMEISXAEEXS 49,400 46,800 2,600
OOtSSAAIE SAHA =& X1
49,400,000 49,400
= 14,820
Al 34,580
Ols=+=<g XI& At 5,235,827 5,823,930 588,103
= 3,665,079
= 471,224
Al 1,009,524
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AT HEIED
M Ols FAHE SNEI(AEISX/ ol - 34H)
=t OtsHE=EY EEED
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 1,880
Al 7,520
ors=sXsd 110,180 107,200 2,980
201 er2 3| 2,700 3,000 A300
01 AtR2te|Hl 1,200 1,500 A300
Odgt+=H| 1,200,000& 1,200
02 S3=gHl 1,500 1,500 0
O0f2I0lE HHa PR E
1,500,000& 1,500
301 LEIE NS 2,000 2,000
14 JIEt2 8= 2,000 2,000
OOISSNAILBAR DF BHT 24
1,000,000& 1,000
OOISHRDS FAT BY
1,000,000& 1,000
307 212t01& 105,480 102,200 3,280
11 AMRISXAEEES 105,480 102,200 3,280
oogole X 45,000,000 45,000
OXSOtSHIE SASAAF 21248] XI&
45,480,000& 45,480
OXFOotSHE SsAt 212Hl K&
15,000,000 15,000
HElold &AL AIZAIS (OtSARE2IS]) 6,300 7,000 AT00
307 @I2t01 & 6,300 7,000 AT700
11 AMRISXAEEES 6,300 7,000 AT700
OO0fEl0le AN XIZAIS (OtS IR E2El)
6,300,000 6,300
FAHE OtsSSAMHIA XIRAAIS 187,950 187,950 0
= 150,360
[ 9,397
Al 28,193
201 Ler23 | 54,350 61,950 AT7,600
s 43,480
s 2,717
Al 8,153
01 At2t2l] 10,400 16,000 25,600
OFHAAHE Ol=SEAMHIA XIAIS
10,400,000 10,400
= 8,320
=S 520
Al 1,560
02 S52g4l 5,550 7,550 22,000
OFAAHE OlsSEAMHIA XA
5,550,000& 5,550




SN O1EIIED
M Ols FAHE SNEI(AEISX/ ol - 34H)
=t OtsHE=EY EEED
SA - BE - SHAEH) - LA - BAS ofl &t G o HIDEZ
= 4,440
=S 277
Al 833
03 At2ZH] 38,400 38,400 0
OFHE OIEEBAHIA XSA
38,400,000 38,400
s 30,720
== 1,920
Al 5,760
301 LEIE NS 102,600 95,000 7,600
s 82,080
s 5,130
Al 15,390
01 Al 2E AL S(FREXM) 72,000 70,000 2,000
OIS OISSEAUIA KR AY
72,000,000 72,000
= 57,600
=S 3,600
Al 10,800
11 HAIMHIXI R = 9,000 9,000 0
OFAAHE OlsSEAMHIA XA
9,000,000& 9,000
= 7,200
== 450
Al 1,350
14 JIEt2 =3 21,600 16,000 5,600
OFHANE OtsSSAHHIA XIZAY
21,600,000& 21,600
= 17,280
[ 1,080
Al 3,240
307 212to1d 31,000 31,000 0
= 24,800
< 1,550
Al 4,650
0122 2 /=4 31,000 31,000 0
OFAAHE OlsSEAMEIA XA
31,000,000& 31,000
= 24,800
== 1,550
Al 4,650
XotsHE =IOt X3 (SHIEEAY) 32,400 32,400 0
= 6,480
Al 25,920




A HAIED
& 0t HAYH SXSE(AMEISsX/ L0l - A H)
=t OtsHE=EY EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
307 212+01 A 32,400 32,400 0
& 6,480
Al 25,920
10 Al =S XA EBEER2IHIE X 32,400 32,400 0
OXNEOotSHE FIr2gdl XA (7HA)
32,400,000& 32,400
T 6,480
Al 25,920
CHEtH S84 X (249dl) 24,000 24,000 0
iy 12,000
T 6,000
Al 6,000
307 2I2+01™ 24,000 24,000 0
= 12,000
& 6,000
Al 6,000
05 QIZIRIErZ 24,000 0 24,000
OUEtH=sHE 28| XIJ (M)
24,000,000 24,000
= 12,000
& 6,000
Al 6,000
CHetH S8HIE X (elAd]) 142,968 142,968 0
= 71,484
& 35,742
Al 35,742
307 212+01™ 142,968 142,963 0
s 71,484
= 35,742
Al 35,742
05 QIZtRIELZ 142,968 0 142,968
OCIatH=SHE 124l XI& (244 )
142,968,000& 142,968
= 71,484
= 35,742
Al 35,742
CHEtH SSAE SARE 10,400 10,400 0
& 3,120
Al 7,280
307 212+01™ 10,400 10,400 0
T 3,120
Al 7,280
05 2IZteEe g 10,400 0 10,400
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M Ols FAHE SNEI(AEISX/ ol - 34H)
=t OtsHE=EY EEED
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OUENESHE SAMA =&
10,400,000 10,400
= 3,120
Al 7,280
<cl 0= ool=sdH 2838 N 46,800 52,000 5,200
307 212+01& 46,800 52,000 A5,200
11 ARRIS XA E X 46,800 52,000 25,200
<cl 0t ooI=sHE 29 XI&
46,800,000 46,800
AR SOtS RHERE AL 1,750 1,750 0
= 1,225
== 263
Al 262
301 22N = 1,750 1,750 0
= 1,225
= 263
Al 262
01 Al E2E A S(FREEMA) 1,750 1,750 0
OBAHEXNS0ts HEAIE Argd
1,750,000 1,780
= 1,225
= 263
Al 262
SSUEOHE T2 )8 A& 7,200 8,000 A800
307 212+01& 7,200 8,000 A800
11 AMRISXAEEES 7,200 8,000 A800
OossdEItd T28d N3
7,200,000 7,200
RS 0ts NI 297,000 297,000
301 EtE N = 297,000 297,000
02 ARSI 2 XSG (FHAAHS, NLWE) 297,000 297,000
oA 0ts N 290,000,000 290,000
Oltss= +adl Xd 7,000,000& 7,000
H2IHE?E0ts X 24,000 12,000 12,000
= 16,800
= 3,600
Al 3,600
301 EtE NS 24,000 12,000 12,000
= 16,800
= 3,600
Al 3,600
01 Al EE A S (2 DEXR) 24,000 12,000 12,000
OdEIEASES XNH
12,000, 000& x2H 24,000




A HAIED
FH: ot HAYH SXSE(AEIEX/ 0! A4)
&2l: Olsdd =y EEED
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
= 16,800
T 3,600
Al 3,600
2alaots NEXA 36,020 38,890 A2,870
= 10,806
Al 25,214
301 LBBNSZ 36,020 38,890 22,870
& 10,806
Al 25,214
02 AISIBEESHS(FHUHS, NYMWE) 36,020 38,890 A2,870
OJIEES0ts 248l XA
20,520,000& 20,520
T 6,156
Al 14,364
OIIEES0ls HEHHS
9,000,000& 9,000
= 2,700
Al 6,300
ORES0t=E 12 1A 2| At
1,200,000& 1,200
T 360
Al 840
OR== NI XI& 4,800,000 4,800
= 1,440
Al 3,360
ORESOIE /= 500,000& 500
& 150
Al 350
A0S IS A 63,000 63,000 0
| 44,100
& 1,410
Al 17,490
301 LPENZ 63,000 63,000 0
J| 44,100
T 1,410
Al 17,490
01 Al B& X2 (2 REETHA) 63,000 63,000 0
ogLlts Ls XA
57,600,000 57,600
J| 40,320
Al 17,280
O=0[2t 2XX&A 700,000& 700
| 490
Al 210
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SN O1EIIED
3 ot 44 SANST(MISA/ ol - HAH)
(i B == P g (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
Al 1,050
301 LEtE NS 2,000 2,000 0
[ 1,600
= 100
Al 300
01 Al EE A S (2 RDEXMA) 2,000 2,000 0
(OL==PNI 2,000,000 2,000
[ 1,600
= 100
Al 300
307 gl2to| & 1,000 1,000 0
[ 800
= 50
Al 150
0122 & 3=H| 1,000 1,000 0
o2 =4l 1,000,000& 1,000
= 800
< 50
Al 150
ASotsEsd20|12 2 240,460 208,938 31,522
= 120,230
< 24,046
Al %, 184
307 glztol & 240,460 208,938 31,622
= 120,230
== 24,046
Al %, 184
10 Al2ISTIAIEEE 22X 240,460 208,938 31,622
OXgotsEsd=)12 2SR
240,460,000 240,460
= 120,230
== 24,046
Al %, 184
NHotsESHE) 2 2L (EHIEXAY) 50,703 27,529 23,174
== 10,143
Al 40,560
307 elztol & 50,703 27,529 23,174
= 10,143
Al 40,560
10 Al SAAEEHE 22X 50,703 27,529 23,174
OXN0lsEsd2I 2 2SN (%)
50,703,000& 50,703
s 10,143
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3 ot 44 SANST(MISA/ ol - HAH)
el OlsdE=sd (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
| Al 40,560
2EE Jtd¥eE X208 X 40,994 0 40,994
= 20,497
= 4,099
Al 16,398
307 gl2to| & 40,994 0 40,994
= 20,497
= 4,099
Al 16,398
10 Al SXAAEEHE 22X 40,994 0 40,994
OgEd JH¥as 2208 N2
40,994,000 40,994
= 20,497
= 4,099
Al 16,398
Otssith HSAIE At 22,360 26,952 24,592
201 eer23y| 18,360 22,952 N4,592
01 AtR2t2|HI 12,730 15,912 A3,182
Oorsstth HsSkd MY =237
2,400,000& 2,400
Oots=H WSXE sl
5,530,000& 5,530
OO0ttt WSAIE 2]
4,800,000& 4,800
02 S3=gHl 5,630 7,040 21,410
OOtS=ITH SXIE At S|
4,030,000 4,030
OOt WSAE MY XXl
1,600,000 1,600
301 EtE N = 4,000 4,000
02 A2 HSGS(FHAAHS, NLWE) 4,000 4,000
OOttt WSAE AtH2CI2SH|
200,000 20 4,000
4 HAFH 4,141,302 3,056,346 1,084,956
= 42,674
Jl 429,951
== 992,547
Al 2,476,130
CH 200,000
F4d AMFH N2 33,300 73,000 A\39,700
201 fet=3| 12,300 15,000 A2,700
01 AtR2t2|HI 8,000 10,000 22,000
OoFxEs Ssl= 5,600,000& 5,600
ogetr3Hl & FLESXN2RAR B
=g S 2,400,000 2,400
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ol Fad A=Y EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
02 S5=g4l 1,600 2,000 2400
O0tsEAHE HMAIES = 1,600,000 1,600
03 A= SHI 2,700 3,000 A300
OFAEHAIZE 2,700,000& 2,700
301 EetE NS 4,800 5,000 A200
11 #AIAHIXIE S 3,800 4,000 A200
oA A2 WEEAL AHIXA
1,800,000 1,800
OF~E THAHAL AKX UK
1,000,002 1,000
O58 HAEO P IIG#A BT AHIXIE
1,000,000& 1,000
14 0Bt 2as 1,000 1,000 0
OFAUNCHY TH9 IS AT 24
1,000,000 1,000
307 glztol & 16,200 53,000 236,800
1 ABI= XA 2 E 16,200 53,000 36,800
OFAEXSAR 214 BH| N
16,200,000& 16,200
HEgEad 42188 N3 83,348 69,736 13,612
= 41,674
= 20,837
Al 20,837
308 AXIHSOIA 83,348 69,736 13,612
= 41,674
< 20,837
Al 20,837
18 SIS0t 4 A AS At 83,348 69,736 13,612
OHASS OMHAY M28E N2
83,348,000& 83,348
= 41,674
< 20,837
Al 20,837
FA4H 250 NZA 3,100 3,100 0
= 1,000
Al 2,100
201 eer23y| 1,600 1,600 0
S 480
Al 1,120
01 At 2|l 1,600 1,600 0
OFAY BSHEAY K&
1,600,000 1,600
[ 480
Al 1,120
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Ol&ot=0t

M Ols HAW SNET(MBI=T/ L0l - ZAd)
ol Fad A=Y EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 9,000
Al 81,000
307 lztol & 90,000 90,000 0
= 9,000
Al 81,000
05 212t =S 90,000 90,000 0
OFAE NL=THE 2
90,000,000 90,000
=S 9,000
Al 81,000
HAEXIE AL BHXIXIR 56,256 54,336 1,920
7l 28,128
Al 28,128
307 elztol & 56,256 54,336 1,920
Il 28,128
Al 28,128
05 21t =3 56,256 54,336 1,920
OFALEXNZ A HIXIXIZ (H A2t
28,128,000& 28,128
) 14,064
Al 14,064
OHAEXIZAL BIXIXI R (HAEESH2E)
28,128,000& 28,128
Jl 14,064
Al 14,064
HadRoiatd 2AE X2 2,000 2,834 NB34
= 1,000
< 1,000
307 gl2to| & 2,000 2,834 A\B34
= 1,000
= 1,000
11 ARRIS XA E X 2,000 2,834 A834
OFaxERSE A XIS
2,000,000 2,000
= 1,000
= 1,000
XALS] BAHE MU E(XA) 107,520 105,622 1,898
Il 53,760
Al 53,760
307 gl2to| & 107,520 106,622 1,898
Jl 53,760
Al 53,760
05 git?(& = 107,520 105,622 1,898
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Ol&ot=0t

3 ot F4d SAST(MISA/ ol - FAH)
ol Fad A=Y EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
7l 65,914
Al 28,249
307 lztol & 94,163 92,079 2,084
Jl 65,914
Al 28,249
05 212t =S 94,163 92,079 2,084
ostu 8 a4l XA 94,163,000& 94,163
) 65,914
Al 28,249
st gt HAaE KR (SAXY) 11,836 9,468 2,368
Jl 5,918
Al 5,918
307 212+01& 11,836 9,468 2,368
Jl 5,918
Al 5,918
05 2IMRIE S 11,836 9,468 2,368
OSth 9 HAY NV (SA)
11,836,000& 11,836
) 5,918
Al 5,918
AEAl SXFEAE S X2 1,804,882 1,490,734 314,148
306 E¢= 1,804,882 1,490,734 314,148
01 £g= 1,804,882 1,490,734 314,148
OAMTAISXNEAEHH 2 N2
1,804,882, 0002 1,804,882
OIS - HAE DI2f AT R Z28 MB(AZUHS 200,000 0 200,000
IS)
CH 200,000
307 212+01& 130,000 0 130,000
CH 130,000
1 AMISXAIEEXS 130,000 0 130,000
OHAESBB U01H AHOIA 2
60,000,000 60,000
CH 60,000
otEgNssdE ZEIDICIN st X
70,000,000 70,000
CH 70,000
401 A& HIX R0 40,000 0 40,000
CH 40,000
01 Al&HI 40,000 0 40,000
OHAESSIOE HAW S0/Z2 XA
40,000,000 40,000
CH 40,000
405 AHAHE S 30,000 0 30,000




SN OIEIIED
3 ot F4d SAST(MISA/ ol - FAH)
ol Fad A=Y EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
CH 30,000
01 ML ESFSHI 30,000 0 30,000
OHAESBIOE HAE 50122 X4
30,000,0002 30,000
CH 30,000
AEA BAEE2 IS8 A (HEALY) 1,000,000 0 1,000,000
=S 800,000
Al 200,000
401 Al HIZ R 0HbI 1,000,000 0 1,000,000
== 800,000
Al 200,000
01 Al&H| 1,000,000 0 1,000,000
OFAUSERZ JISEY A (HE)
1,000,000,000& 1,000,000
= 800,000
Al 200,000
SX2 2(RS/BY - MYNS) 297,260 212,080 85,180
sSX2 29 297,260 212,080 85,180
SEASSK2 24 248,540 163,440 95,100
201 =3 52,240 58,640 26,400
01 At2t2lt] 21,840 23,640 A1,800
oget=ZH| 13,200,000 13,200
OSEAtal=X2 20t - HD| - A8 - 52
2| S99 8,640,000& 8,640
02 S3=gHl 30,400 35,000 24,600
OZE A= 23 30,400,000 30,400
301 22N = 100,800 89,800 11,000
02 ARI2HH S (FHAAS, NLHE) 4,800 4,800 0
OMIISXIKIL SLOIAY 29
4,800,000 4,800
11 dAMEBIXIE S 1,000 1,000 0
OMIIS MU NHASAH ZOAH &HIXI2
1,000,000& 1,000
14 0Bt 2a3 95,000 84,000 11,000
O=sX2 T2 A=
95,000,000 95,000
401 Al HIZL S 0HYI 43,000 43,000
01 Al&H| 43,000 43,000
OEESANBI=NR 24 Y
30,000,000& 30,000
OZeAt2=A2 2 13,000,000& 13,000
405 AtaHE = 52,500 5,000 47,500
01 L ESFISHI 52,500 5,000 47,500
o= =8 g 78 48,000,000 48,000




AT HEIED
M =7 29(DS/HA - NADK)
o2l SN2 23 (SH &)
S - EE - BRI(EH) - AIRAY - BAS of v G o HIDE2
O=X& ==&l W 4,500,000 4,500
NZARSX2 29 48,720 58,640 29,920
201 eet23| 23,120 26,640 A3,520
01 AtR2t2|HI 13,120 13,640 A520
Odgt+=H| 4,480,000 4,480
O=¢ot- JJ| - a8 - 52| & SHH|
8,640,000 8,640
2 S5=24g4l 10,000 13,000 /3,000
OMZAt2=X2 28 10,000,000& 10,000
301 EtE N = 25,600 32,000 26,400
14 DBt 2 a=S 25,600 32,000 6,400
Oz )e ZAx=E 25,600,000& 25,600
A 2HAHI(GAI=1) (OIEH/DIEH 248,380 226,200 22,180
= 104,320
=S 6,520
Al 137,540
Efgestal 179,000 161,200 17,800
[ 104,320
= 6,520
Al 68,160
FHUNE OtsSEMHIA XA (QH2HHI) 179,000 161,200 17,800
[ 104,320
= 6,520
Al 68,160
101 @124H| 179,000 161,200 17,800
= 104,320
< 6,520
Al 68,160
03 SR (RINAHA) 222+ 179,000 161,200 17,800
OIS OISSEAHHIA TR (012l
AHl) 179,000
oOtSSE At 22| AL 2121H]
130,400,000& 130,400
[ 104,320
= 6,520
Al 19,560
oA2tel+=E 12,060,000 12,060
oNSEFLY 4,800,000% 4,800
oJtEsd 6,120,000& 6,120
oOtsSE At 22l Ab 21 4HI(XHA)
14,020,000& 14,020
ocEEFIHI 11,600,000 11,600
JlI=23sl 69,380 65,000 4,380




SN OIEIIED

A HHE2HHHI(GAIIED) (OIEHDIIE)

Chel: J1=2 &l EER=E)
SIA - BE - O9I(BI) - HIRAIY - S Ofl b G o HIR=2
J|123&H| 69,380 65,000 4,380

201 LB-2AH| 7,200 8,000 A800
01 AtR2telt] 7,200 8,000 A800
O3l 7,200,000& 7,200

202 04dl 57,980 52,800 5,180
01 =LHOdH] 57,980 52,800 5,180
O2UHE=E NI 44,160,000& 44,160
O33R Z2USHOYI 13,820,000& 13,820

203 AR F=&lH| 4,200 4,200

M PA2IHRFALI 4,200 4,200
ORN2IYRFAI 350,000 <12 4,200




